1/2

GED) HEMBEERUVRTEFEHERSE HER  SMTEVA12E
(bTHkh) \FmE NFHAFARATHT 7 B 4
INFHRRERMEAEH

rEmmRtE FHAE—
#H 55 B : SM7FE09A8128
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, AEmFER - HFIE09813H
e EEHh B K& EHEHE =iE & ZiE TR FEH=E
(kg) (kg) (kg)
KB L a5 10| 48t 100, 000 756 540 # 80, 000
AS dbiEE 10]  #Ext 8, 000 2, 160 1,944 1,620 # 7,000
THIES M ks 4 tBx*t 26, 000 1,080 864 # 30, 000
=E3 dbiEE 10]  #Ext 7,000 1,944 #H 6, 000
KZE Rk 0.2 #Ext 300 86 #H 300
INAEE a5 0.2 #Axt 600 108 81 b4  # 600
INAEE Rk 0.2 #+Axt 2,500 81 #H 2, 500
ErRy a5 10]  #Ext 15, 000 540 #H 25, 000
F5hAE ks 0.2 #Ext 300 216 173 76  # 500
= ks 5| U 11,900 2,376 2, 160 1,836 # 12, 000
=3 L WA, FiE 0.1 #Axt 1,000 76 #H 1,000
JOyal)y— AL24F dtiE|EE 8  tE*t 1,600 4,147 # 1,600
LA R a2¥F 10/ 48t 4,000 1,512 #H 4,000
FoT YA RIh 0.2 #+Axt 150 173 #H 150
#I AS B 5, &Y 500 2,160 1,944 1,728 # 500
RF 2RIk 4 #xt 200 1,296 #H 200
<k ks 4 ) 1,500 2,592 1,728 324 O# 1,800
E—<> 5 4 Y 6, 000 864 A 6, 000
BE =5 0.3 +Y 100 162 b4  # 100
HEE Rk 5| Xt 2, 000 1,728 #H 2,000
EinE dbiEE 10/ 48t 5,000 2, 160 #H 5, 000
E¥ A4L, A3L % 100 &Y 10, 000 4, 860 540 # 10, 000
E# dbiEE 20| #Ext 15, 000 3, 888 #H 20, 000
[IZAIZK % 11 +1) 5, 000 2,484 H 3, 000
HEID =5 11 Y 700 756 216] A 500
EHE a2F 0.1 #Axt 2,100 86 #H 3, 000
TJFHIA0 A . =i 0.1] #Ext 1,500 86 #H 1,300
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EGED HEMERUVRGEFEHEHREE HEH - SFTEF128
(HTHE) \FHEE NEHATARATHF 7 Eith 4
I\NFHRRFEH#KASH
rREmEELE HFHIE—
# & B : §MTE09A128
I\EHRREETIBEGIEGEEIERVE2ZEDRTEICEY RDOESYRELET, ARFPEHR | SFM7F09813H
3 Eih B Xe EFEHE SiE hiE ZiE| TR FEH=
(kg) (kg) (kg)
JFIAS A 8. B 0.1 =& 30 81 #H 20
FREE 224,070




